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1.Qb3!

[1.Qf6? Nd4 2.Qg5 Rgl=;

1.Qxb5? Kgl 2.Qg5+ Kxf2 3.Qg3+ Ke2=;
1.Qg7? Rgl=]

main A: 1...Nc3!
[1...Nd4 2.Qg3! R1e3 3.fxe3 (3.Qxe3? Rxe3+ 4.fxe3=) 3...Rxe3 4.Qxe3+— no stalemate;
1...Re5 2.Qf3+ Kgl 3.Qg2#]

2.Qxc3 R1e3+ 3.Qxe3!
[logical try 3.fxe3? Rxe3+! 4.Qxe3=
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| position X with wQe3 - stalemate]
3...Rxe3+ 4.fxe3+—
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& position X with wPe3 - white wins

main B: 1...R1e3+ 2.fxe3

[2.Qxe3? Rxe3+ 3.fxe3=]

2...Nc3! [2...Rxe3+ 3.Qxe3+— no stalemate]

3.Kg3!

[logical try 3.Qxc3? Rxe3+! 4.Qxe3= position X with wQe3 — stalemate]
3...Rxe3+ 4.Kf2! [4.Kf4? Rh3!=]

4...Re2+ [4...Rh3 5.Qb7++-]

5.Kf1l+—[5.Kf3? Rh2! 6.Qe6 Ne2 7.Qe4 Rg2=] ;



